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IMP IMP | IMP | & & | Fpe |25 | |25 | MP P 2,

1 SEEEE ExWiets s 50 71 -138 | -6l -1.2 0.56 371.0 143.6%

1 bt FEHIE 50 86 -118 | -32 -0.6 0.73 370.5 143.6%

1 bt AL 50 91 -108 [ -17 -0.3 0.84 395.0 146.5%

1 Bt et == SR 50 120 -88 32 0.6 1.36 455.0 153.5%

2 e P& ST 100 | 289 [ -164 | 125 1 1.3 3 11761 4 18815 [51.9%] 11

2 et e BT~ 100 ] 168 [ -270 1-102 [ 30 J-1.0 [ 26 10.62 [ 25 ]1727.0 {42.8%| 29

3 JE SR A E 10 27 -26 1 0.1 1.04 94.0 1553%

3 [N A EEH 60 91 2183 1 -92 128 1-1.51 30 10.50 |1 29 1433.5 142.5%| 30

3 G BT 70 93 -193 1-100 1 29 1-14 129 1048 | 30 1530.5 144.6%| 27

3 el PEIRE? 60 85 -156 | 71 124 1-1.2 1 28 10.54 | 28 1443.0 143.4%| 28

4 EETH Ik 70 155 | -108 | 47 6 107 5 11441 5 16740 156.6%| 2

4 SR E 2T 60 164 | -147 17 10 103 [ 10 11.12 | 10 15340 [524%| 8

4 ZiETT D7 10 17 -9 8 0.8 1.89 89.0 152.4%

4 Extl=hiot B 60 182 -65 117 2 2.0 1 1280 ] 1 15885 157.7%[ 1

5 FEE] SR 20 64 -43 21 1.1 1.49 181.5 153.4%

5 FEE] BEESL 50 135 -78 57 1.1 1.73 457.5 153.8%

5 SE MR 40 80 -75 5 0.1 1.07 347.0 151.0%

5 SRE BIECR 20 28 -45 -17 -0.9 0.62 169.5 149.9%

5 G HIECR 30 48 -53 -5 -0.2 0.91 262.5 151.5%

5 MR BIECR 40 116 -88 28 0.7 1.32 355.0 152.2%

6 SRR HELE 70 156 | -151 5 16 101 [ 15 11031 17 |611.0 [51.3%] 13

6 o 7k L ExCiilin 60 117 | -113 4 17 101 [ 17 11.04 | 15 1509.0 {49.9%| 16

6 JEdpalEs BEETR 70 154 | -161 -7 19 101119 1096 | 19 15770 [48.5%| 18

7 HaEE IGENE 50 113 | -102 11 0.2 111 432.5 150.9%

7 HEE RS 70 161 -90 71 4 1.0 [ 4 11791 3 16370 [53.5%[ 5

7 2k s 80 196 | -179 17 10 102 [ 12 11.09 | 11 J664.0 [48.8%| 17

8 Ik ELHE TR 100 | 202 [ -208 -6 18 1-0.1 118 1097 | 18 |821.5 [48.3%| 20

8 M5 QR 70 168 | -184 | -16 1 20 1-02 [ 20 1091 | 20 J547.5 [46.0%]| 25

8 HFFY M5 20 40 -29 11 0.6 1.38 186.0 154.7%

8 FFF GEH 10 16 -19 -3 -0.3 0.84 85.5 150.3%

9 P <F B B E 100 | 205 [ -198 7 15 101 [ 16 1104 16 |8755 [51.5%]| 12

9 e Dl 100 | 232 [ -224 8 14 101 [ 14 1104 ] 14 18655 [50.9%]| 15

10 ([ (EHE BN 90 172 | 218 | 46 1 21 1-05 121 1079 | 21 ]735.0 [48.0%] 21

10 21K BN 10 12 -21 -9 -0.9 0.57 88.5 152.1%

10 27K ZEHEVE 100 | 223 [ -179 | 44 8 0.4 8 11251 7 1916.0 [53.9%| 4

11 FENEAD ZEE 100 | 215 | -181 34 9 103 9 11191 9 1886.0 [52.1%| 10

11 s EEPRUR 100 ] 245 [ -196 | 49 5 0.5 6 1125] 6 1910.0 [53.5%[ 5

12 =HEH N 100 ) 177 [ -238 | -61 [ 22 1-0.6 {22 10.74 [ 22 |1814.0 {47.9%| 22

12 HiEk ERANEE 100 ) 184 [ -249 | -65 [ 23 1-0.7 (23 10.74 | 23 ]1823.0 {48.4%| 19

13 J It FHCE 10 | 18 -3 15 1.5 6.00 97.0 157.1%

13 | IEEE EER 30 66 -74 -8 -0.3 0.89 266.5 152.3%

13 | IEEE B 10 8 -36 -28 -2.8 0.22 62.5 136.8%

13 T EEE TS 10 26 -37 -11 -1.1 0.70 57.0 133.5%

13 SR B 40 101 115 | -14 -04 0.88 322.5 147.4%

13 SR TS 10 8 -30 -22 -2.2 0.27 74.5 [43.8%
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13 HEEIE e 20 | 13 | 48 | -35 -1.8 0.27 147.0 [43.2%

13 R iGEAal 30 | 34 | 71 | -37 -1.2 0.48 249.0 |148.8%

13 S TR 101 27 | 21 6 0.6 1.29 81.5 [47.9%

13 LIES B 20 | 54 | 31 | 23 1.2 1.74 179.0 [52.6%

13 G E {5 101 26 | 20 | 6 0.6 1.30 77.0 145.3%

14 KB i 101 4 42 | -38 3.8 0.10 51.0 130.0%

14 KB BZEE 10 ] 30 | -15 [ 15 1.5 2.00 98.0 |57.6%

14 =B A AR BB 80 | 216 [-111 1105 | 3 113 | 2 1195] 2 |764.0 [562%| 3

14 =B A BHEELL 101 10 [ -2 |-12 -12 0.45 74.0 143.5%

14 i PRt B 101 17 | 23 | -6 -0.6 0.74 80.5 [47.4%

14 P, B[ 80 | 118 | -202 | -84 | 26 |-1.1 [ 27 ]0.58 | 27 1616.5 [453%| 26

15 S aeiid S 50 | 144 | 87 | 57 1.1 1.66 467.5 |55.0%

15 PRTHE R 10001 12 | 21 [ 9 -0.9 0.57 83.0 148.8%

15 & FHEE 50 1 98 | -69 | 29 0.6 1.42 416.0 |48.9%

15 e R LR 101 29 | -19 [ 10 1.0 1.53 86.0 150.6%

15 BT F FHEE 30 1 85 | 67 | 18 0.6 1.27 260.0 |51.0%

15 B8 R LR S0 1 109 | 96 | 13 0.3 1.14 423.0 149.8%

16 HEE S5 | 100 | 165 | 250 | -85 | 27 1-09 [ 24 10.66 | 24 1798.0 [46.9%| 24

16 B PR | 100 ) 214 [ -203 | 11 | 13 J 0.1 | 13 J1.05 | 13 |872.5 [51.3%| 14

17 A =E) TR 80 | 124 [ -205 | -81 | 25 |-1.0 | 25 10.60 | 26 |641.5 [47.2%| 23

17 USRS, ALk 10 ] 30 | -12 | 18 1.8 2.50 95.5 156.2%

17 e AEHE: ISR 10 ] 25 | 21 4 0.4 1.19 94.0 155.3%

17 B AEHE: e 50 | 113 | -123 | -10 -0.2 0.92 422.5 149.7%

17 ZEputh ISR 50 | 138 | -105 | 33 0.7 1.31 483.0 |56.8%

18 U 2 A fopHEs 70 | 186 | -170 [ 16 | 12 102 | 11 |1.09 [ 12 ]622.0 |52.3%| 9

18 Bt fop i Es 30 | 74 | 28 | 46 1.5 2.64 301.5 159.1%

18 ERfuse Braiel | 100 | 260 [ -214 | 46 | 7 105 | 7 1121 ] 8 |892.5 [52.5%| 7




